[ number of missing inner layers |

1 Entries 11856
Mean 0.04512
Std Dev 0.212
H H |
Entries 11856
Mean 0.04512
Std Dev 0.212
Entries
Mean
Std Dev
reeeiee-
Entries
Mean
Std Dev
Entries
Mean
Std Dev
Entries 12360
Mean 0.04498
hadasi i lyagad
0.95 B B —_—— . . . .
"0 05 1 15 2 25 3 35 4 45 5

| number of missing outer layers

1 " —{ Entries 11856
E : ¢ | Mean 1.303
N H Std Dev 1.99
~ : : ; T
10 1§_ """ poTTrrrrormrreees " Entries 11856
o : : | Mean 1.303
o . 1 [Std Dev 1.99
S IR - eeiiiiitiiiiiii.. ]
10°E : . [Entries 12326
F : : | Mean 1.309
I . N Std Dev 1.973
1073 beeeaneees S TR CCIERE EREEEEEE: I
E : : : Entries 2402
C B N N Mean 1.31
_al : : . [ std Dev 1.972
107 AR PR P 1
F 1 [Enties 12402
o : : 1 | Mean 1.308
Sl ... e oo} Std Dev 1.97
107°F : 5 5 |
F : : : Entries 12360
B ' ' N Mean 1.306
P I PO I |

Py

25

reiTal oAt vector—H660evt
IR ThRaee

<hits>vs n

:E‘B)ég??— ‘T)g'z 1000evt

Ratio

0.95

Entries 104038
Mean 2.189
Std Dev 6.207
: |
Entries 104038
Mean 2.189
Std Dev 6.207
: |
Entries 103152
Mﬁln 2.189
StegDev 6.193

L
10 7

Entri
Mean
Std Dev

1074 i R 6.184
C . . : | I
B : : Entries 103721
5 i : : Mean 2.179
10 R Feeneee] Std Dev 6.164
N N | |
: : Entries 104468
5 | | Meaﬂ 2 18:}
01—l ] P Y
= . . B
] N b b
@ ; | | [eded | [ [
0.95 T + + >
10 1 10 10

—
T
O
o
w

4

10°

10%E

10E

Entries

Mean

Entries
Mean
Std Dev

Entries 12402

Mean 12.11
Std Dev-L 6.6
|
1= Entries 12360
F: 1 Mean 12
° 1.1:""" P RN WSy
IS E 1 :
o L E Fr T :
1= Beeee
A0 :
0.95
V 5 10 15 20 25 30 35 40

[ N of reco track vs pT |

track hits

Entries 19302
' ' Mean 0.6883
= . . Std Dev 2.811
10 N - """""" ' """""" T I
: : Entries 19302
: Mean 0.6883
Std Dev 2.811
; : : ]
: : Entries 19934
. Mean 0.6726
Y T . Std Dev 2.345
10 E : g T
o : Entries 20043
L : Mean 0.667
Y [ b El 2.299
10 3 : I
C : Entfigs 20023
B . Meg 0.6664
=] T e Stdjii4] 2.294
10°F : T I
C Entries 20002
B . 0.6672
e T B M |
010V 3 Lol
= H B
T '
[a 1H L R
& :
0.95p" : i
0 1 ' 2 3
10° 1 10 0
track p_



	Contents
	Page 1


